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1) Stan ate 21 skittles. His dad says that he ate one-third of the bag.
How many skittles were in the bag to start with?—
a) Write an equation to represent this problem. Solve the equation.
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What is the algebraic expression?

Comm X+ 2

How could you describe the expression below?

I | |
OOo@E *>*3
9\(’“ ) = 2x+b

What about this expression?

H(e+3) = 4x 412

How is this related to the diagram abgye?

X
X
| X
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What we just showed is the Distributive Property in math.

4 (x+ ;i means the 4 is distributed to the x and to the 3, so we get
4xx +4x3
4x + 12

Examples: Model and give the answer fommg:

)
bx +3 ‘moam ex +

EEnyerneam 6 °
D &b 2R 6

Without modelling:
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What we just showed is the Distributive Property in math.
4 ( x+ 3) means the 4 is distributed to the x and to the 3,

soweget4dxx +4x3
4x + 12

Examples: Model and give the answer for the following:

(a) 32x + 1)

L 1 10
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The Distributive Property

The property stating that a product can be written as a
sum or difference of two products.

For example: J(B +C)=ab +ac

a(b-¥)=ab - ac
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Box method
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Expand:
a) @) b) m)
-5x —395 % -He
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